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QUESTION 1

A 7-Mb multicast traffic stream is being sent to wireless clients and it is using up most of the available wireless spectrum
in the 2.4-GHz unlicensed band. As a result, many of the data applications have become sluggish and the video is
choppy. What is the best option to send the multicast over the wireless network more efficiently and leave some
bandwidth for the data applications (assuming the network is capable of supporting this option)? 

A. Raise the DTIM to 10 

B. Enable WMM QoS 

C. Turn on multicast-multicast mode 

D. Turn off the lower data rates 

Correct Answer: D 

 

QUESTION 2

You calculate that your AP should transmit at 6 dBm to provide appropriate wireless coverage, while still complying with
EIRP, with the antennas that you selected. However, the AP is transmitting at 1 dBm only, even though it is on power
level 1. How can you increase the transmitting power? 

A. Choose appropriate antennas types. 

B. Decrease the antenna gain that is configured on the Cisco WLC. 

C. Switch to a custom Tx power level and increase the power level. 

D. Disable auto-RF. 

E. Activate 802.11n legacy beamforming on the Cisco WLC. 

Correct Answer: B 

 

QUESTION 3

Which of the following WLC feature is disabled by configuring the Passive Client feature? 

A. proxy ARP 

B. Proactive Key Caching 

C. DHCP proxy 

D. power-save mode 

Correct Answer: A 

 

350-050 Study Guide | 350-050 Exam Questions | 350-050 Braindumps                                2 / 4

https://www.passapply.com/350-050.html
https://www.passapply.com/350-050.html
https://www.passapply.com/350-050.html


https://www.passapply.com/350-050.html
2021 Latest passapply 350-050 PDF and VCE dumps Download

QUESTION 4

The IT manager acknowledges that some security issues that are shown in a detailed security index report violate
company policies. However, the security index does not change after synchronizing the configuration of the Cisco WLC
on Cisco WCS. What are two possible reasons for this issue? (Choose two.) 

A. The acknowledged issue is on a controller that does not directly affect the security index score (for instance, it is not
the controller with the lowest score). 

B. The acknowledged issue is on a WLAN that does not directly affect the security index score. Only the lowest scoring
WLAN of the lowest scoring controller affects the security index score. 

C. The acknowledged issue is on a controller that does not directly affect the security index score (for instance, it is not
the controller with the highest score). 

D. The acknowledged issue is on a WLAN that does not directly affect the security index score. Only the highest scoring
WLAN of the highest scoring controller affects the security index score. 

Correct Answer: AB 

 

QUESTION 5

Refer to the exhibit. 

The ACS RADIUS Authentication Report shows the output for a failed client authentication. Which action can resolve
this issue? 

A. Re-generate the client certificate, which is expired. 

B. Install the complete ACS certificate CA chain on the client operating system. 

C. Re-generate the local ACS certificate, which was issued by an unknown CA. 

D. Import the complete client certificate CA chain on the ACS. 

Correct Answer: D 
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